

3つの分数の足し算 (6)

が にち



分母をそろえてから
計算しよう

$$\frac{1}{6} + \frac{3}{4} + \frac{1}{12} = \frac{12}{12} = 1$$

約分

なまえ _____

① $\frac{3}{4} + \frac{1}{8} + \frac{1}{6} =$

⑦ $\frac{1}{10} + \frac{7}{4} + \frac{2}{5} =$

② $\frac{2}{9} + \frac{7}{6} + \frac{3}{2} =$

⑧ $\frac{1}{2} + \frac{2}{9} + \frac{1}{12} =$

③ $\frac{1}{3} + \frac{1}{6} + \frac{1}{7} =$

⑨ $\frac{7}{4} + \frac{5}{8} + \frac{1}{8} =$

④ $\frac{7}{4} + \frac{1}{6} + \frac{1}{3} =$

⑩ $\frac{1}{20} + \frac{6}{5} + \frac{1}{2} =$

⑤ $\frac{2}{3} + \frac{1}{4} + \frac{2}{9} =$

⑪ $\frac{1}{8} + \frac{2}{5} + \frac{3}{8} =$

⑥ $\frac{2}{5} + \frac{3}{4} + \frac{3}{20} =$

⑫ $\frac{5}{3} + \frac{7}{5} + \frac{1}{3} =$



3つの分数の足し算 (6)

が にち

なまえ

- ① $\frac{3}{4} + \frac{1}{8} + \frac{1}{6} = \frac{25}{24}$ ⑦ $\frac{1}{10} + \frac{7}{4} + \frac{2}{5} = \frac{9}{4}$
- ② $\frac{2}{9} + \frac{7}{6} + \frac{3}{2} = \frac{26}{9}$ ⑧ $\frac{1}{2} + \frac{2}{9} + \frac{1}{12} = \frac{29}{36}$
- ③ $\frac{1}{3} + \frac{1}{6} + \frac{1}{7} = \frac{9}{14}$ ⑨ $\frac{7}{4} + \frac{5}{8} + \frac{1}{8} = \frac{5}{2}$
- ④ $\frac{7}{4} + \frac{1}{6} + \frac{1}{3} = \frac{9}{4}$ ⑩ $\frac{1}{20} + \frac{6}{5} + \frac{1}{2} = \frac{7}{4}$
- ⑤ $\frac{2}{3} + \frac{1}{4} + \frac{2}{9} = \frac{41}{36}$ ⑪ $\frac{1}{8} + \frac{2}{5} + \frac{3}{8} = \frac{9}{10}$
- ⑥ $\frac{2}{5} + \frac{3}{4} + \frac{3}{20} = \frac{13}{10}$ ⑫ $\frac{5}{3} + \frac{7}{5} + \frac{1}{3} = \frac{17}{5}$

